


\ Kinaccuas pabora. 04.02

YCTHbLIN
cuyeT

Hawnam jmiinee:
65:5
98:7
60:4
87:29
75:3
44:2




== |poBepb ceodn






Tema ypoka ?



88

emMa ypoka:

«YYUTbCA HAXoOAUTb
yacTHoOe NoaoopoOM»



87 :29 =

Paccyxaaem

1. [Monpobyem B ‘—IaCTH(yeTHGBepI/IM:
29 X2 =58

2. CpaBHMBaem 87 > 58

3. [lonpobyem B 4YaCcTHOM 3 1 NPOBEPUM:
29 X3 =87

4. CpaBHUM 87 = 87, 3HAYUT PELLUUIN BEPHO

87:29=3




75:25= 85:17 =
Peiuy npuMepsI
Paccy:xaaeM yCTHO
1. [Nonpobyem B YaCTHOM 2 1 NPOBEPUM:
D GO
2. CpaBHUBaEM .............
3. [lonpobyem B 4YaCcTHOM 3 1 NPOBEPUM:
ST G ot
4. CpaBHUM .... = ....., 3HAYUT pPELUNIIN BEPHO




Ctp. 18

N26

HasBanue | Koj-Bo k1. | KoJi-Bo Bcero kr.
OBOIIIEeH B 1-om 0aAHOK
0OaHKe
Orypusl 3 KT ? 0. 15 kr.
Ilomupopel 2 KL I R ? KL




Y4yebHuK: cTp. 18, Neo4,
No5






